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No. of Questions : 150
gt @ e s 150

Time : Two Hours Full Marks : 450

uog : & e quiig : 450

Note : The paper consists of 170 Objective Type Questions and is divided
into Three Sections (I ,II & III} as under :

(a) Section -1 consists of 130 Objective Type Questions.

{b) Section - II consists of 20 Objective Type Questions on English
Language Comprehension.

(c) Section-IIlI consists of 20 Objective Type Questions on Hindi
Language Comprehension.

Instructions :

Out of total 170 questions, you have to attempt 150 questions only.
There are 130 questions in Section -1. You have to attempt as many
questions as you can. In Section -II, there are 20 questions for
English Language Comprehension and in Section ~III there are
20 questions for Hindi Language Comprehension. Attempt as many
questions as you can either from Section -II {English) or from
Section ~III {Hindi}. In all you have te attempt 150 questions. Each
question carries 8 marks, one mark will be deducted for each
incorrect answer. Zero mark will be awarded for each unattampted

question.

Frdfor:

39 we-ua W fd gu B 170 Y & ¥ w150 FHl F IW 1 T
@WUS-I ¥ A Tf 130 W &I a1 AfUFAIF T B TR & B B
@WUE-N ¥ 2 AT 3 20 W9 € 99 Wus-1 ¥ e W Ee ¥

3 P.T.O.
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01.

02.

03.

20 YT B TR Al S gy o7 5 woEy ¥ I ¥ W
&1 T W YR 150 TF F IN | T 7% IWM F fAu 3 of Freifta
¥ DRIF T I & [T U 3 WHIET AT TAF ARG T H
ST S 2

Which of the following great educator first started supervising the
practice in teaching of the teachers ?

(1) Froebal (2) Pestalozzi
{3} Maria Montessori (4) John Dewey

frefefag §f @ #i9 ner fasmere, faed gdvam sreamey & e starg
1 qaa Wy R ?

(1) hieE (2) YLt
(@) = aEd (4) A gt

Which of the following subjects are excluded from state and concur-
rent lists of the Seventh Schedule of the Constitution of India ?

(1} Elementary Education {2} Secondary Education
(3) State Universities {4} Central Universities

frefefige & 9 ey frell ) aRa & dfaum &) ol STgEt Ft T o
el e | e @ T E 2

(1) Wi faa (2) wreafE faan

(3) U=y faafaaem (4) = faufameaa

In connection with teacher education, Education Commission has
recommended that ¢

(1) All types of teacher education should be brought under the uni-
versities.

(2) National Council for Teacher Education should be established
(3) Teacher education should be imparted in self financed colleges.

(4) Teacher education should not be the concern of the universi-
ties.



04.

05.

06.
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fren adn A sremasw fan & g ¥ fawifm 9 2 f

(1) &9 ¥R 3R W =t e fen, fafamedr & oA 2 =few)
(2) TS stearges e ufee @) wge e aifew

(3) E-foaufug wier o st fen € s =ifzw

(4) Taafaereg =1 erads s 9@ & Wer 18 8 =iy

The repetition of behaviour strengthens the "S-R Bond' is an impli-
cation of Thorndike's law of :

(1) Contiguity (2) Ezxercise (3) Effect (4) Readiness

SRR ot (RGN TH-2TR 9108’ I T9Ed 3l €, Hews & 59 fag =
AR F@T R 2
(1) e (2) (3) F9E (4) L

"If we are asked to reform any one aspect of University education,
then it will be-examination” This observation belongs to :

(1) Calculta University Commission
(2) Secondary Education Commission
(3) University Education Commission
(4) Education Commission

“Tfe fqufaaem faen & o a1 § guR 3G €01 e 99 Ol 98 & -
Them’”’ 2w wed @ Gefm €

(1) ek faafaemy = (2) wrsafier foven st

(3) faafaerem foan smEam (4) feam amm

Who among the following is not a Tirthankara of Jainism ?
(1) Mahavir (2) Maudagalyayan

{3) Parshvanath (4} Rishabhdeo
frfafea §f @ wiF T 9 ad @1 ddfe ) 2 2

(1) TeER (2) wigTeET

(3) TreTa (4) HITEH

S P.T.G.
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07.Which of the following has not been accepted as the criteria of positive

science, which psychology claimed to be :

{1} Objective Observation {2) Subjective Observation

(3) Science of behaviour (4) Variability of data

Freferfiaa & O f8 ahReTs foagr 1 wdel & A T, R TRifaer
3 T e

(1) IS STacs (2) MY TS

(3) THEER 1 faqe (4) oWHS H sRad-ited

08.Who is designated as the chancellor of Viswa Bharati Shantiniketan ?

(1) Chief Minister of West Bengal{2} Governor of West Bengal

(3} Pesident of India (4) Prime Minister of India

gt wif e &1 pentaufy R avmr s € 2

(1) 9f¥m simer o1 geaws (2) ufss SR 1 TSI

(3) ¥ 1 Tgdfd (4) 9RA F FEEE
09.Programmed instructional material is used to achieve the following :

(1) Aesthetic objectives (2) Affective objectives

{3) Cognitive objectives (4) Psychomotor objectives

10.

gﬁ?a#ﬁﬁ:ﬂgéwa¥nnﬁraﬂzﬁﬁﬁnfﬁvﬁéﬁgaifiiﬁﬁaaﬁsmﬁiégf%aiamn

(1i diduts 2 (2) WEHS IeT
(3) TAHRH® 3279 (4) TENTHE Ie¥

Which of the following is not a projective test of personality assess-
menty

(1} Minnesota multiphasic Personality inventory
(2} Rorschach Ink Blot Test

{3) Sentence Completion Test

(4) Thematic Apperception Test
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frefafas § 9 S aatwa Fefo =1 a8d waor 78 2 2
(1) fi dier uedihfva =afhe Ta=d
(2) U9 EATE-gsa e

(3) = qfd whara
(4) ifes sAwA o

11.Median clas (170-174) of a distribution of scores of SO students has a

frequency of 10. The cumulative frequency before median class inter-
val is 22. Find out the median for this distribution.

oy faenfoa & et o W famor & aftrm a9 (170-174) it arc=ERa
10 &1 aftzrert ot @ qelordl ot ) TRl s 22 {1 faww i afeasr 3w
HIT ;

(1) 169.5 (2) 170 3) 171 @) 174

12.Which one of the following is not associated with the theory and prac-

13.

tice of programmed instruction ?
(1) B.F. Skiner (2) Crowder
(3) Pressy (4} Robert Glaser

frafafad § ¥ S9 TF sfEiE o ¥ daifas w6 e v @
grafug g € 2

(1) o THo FT (2) TP

3) et (4) Tad W

Memory consists of following three separate but interrelated compo-
nents:

{1) Encoding, storage and creativity
{2) Encoding, storage and retrieval

(3) Perception, encoding and retrieval
(4) Thinking, Storage and retrieval

7 P.T.O.
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wifq it o Frefafeg 59 9 999 ) sradEt-aa Tew ¥ B €
(1) FHEUFHTT, FUSRUT q YTETHdl

(2) FHEdHdT, HUSHO] a1 YA

(3) NeRilEvI, Feddad adq QA

(4) F==9, qUSOT 91 G

14.Close circuit television is useful in the following teaching-learning situ-

15.

16.

ation :

(1) A class with limited number of students

(2) For communicating to a large group of students
(38) For a large group of weaker students

(4) For addressing geographically scattered students

Fire fthe Fefifasm frafafaa § 4 ey wiifafa & swE €
(1) Faet wifa faendf dwe areft e &

(2) forenfafdl o 92 9qg & 99N §

(3) SR ferenfeiell % UF 9 WE Y

(4) stifers &9 9 fom Prfddi =) deifia 0 |

Find out the mental age of a 16 years old student who has on IQ of
125 ;

(1) 18 years (2) 20 years (3) 22 years (4) 24 years
?mﬁ%mﬁ%nﬁmmﬁmmmﬁgm 125

(1) Eregad  (2) Sad (3) mq a4 (4) sig o

Which of the following is not a descriptive statistics ?

(1) Averages and dispersions

(2) Correlations

(3) Graphical presentations

(4) Inferring population characteristics on the basis of samples
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Freafafen ® @ a1 avires wifers @ 2 7
1) 3 aon fa=mem

(2) wEHaY

(3) fesifia st

(4) =Ed ¥ FMUR | TAGE AN H HAT

1’7.Which of the following is not a teacher controlled strategy ?

18.

(1} Lecture (2} Demonstration
(3) Project (4} Tutorial

frefefiaa & ¥ FH € fiee Frifa =g o Ad R 2
(1) =uRsEH (2) W9 (3) ST (4) TGS

"An increases in the size of body parts of the organism as a whole,
which can be measured or quantified” is known as :

(1) Development (2) Maturity (3) Growth (4) Progress

“IR F el & R ¥ gfe fSme urw sigen yftariie fEar ot 9%,
Eea

(1) o= (2) ity (3) s (4) wiid

19.Mental age of a 15 year IX clas student is 18 years. His intelligence

quotient will be :

ﬁaﬁ%@ X 5 ¥F frndl $ oefes ang 18 3¢ B SHe! gleatw
(1) 88.33 (2) 120 (3) 0.8833 (4) 1.20

20. An inter connection of two or more computers created for exchanging

information among themselves is known as :

(1} Adomain (2} An internet {3} A node (4) A system

9 P.T.O.
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Wﬁwﬁ%ﬁﬁw%ﬁmﬁﬁﬁwwﬁmmm
g
(1) T dEW (2] WIREE (3) WA (4) TF NOTER
21. The year of establishment of the UGC in India is :

uRa ¥ g5, F e A @
(1) 1948 (2) 1953 (3) 1956 (4) 1964

22.The first ever intelligence test was developed by :

(1) Guiiford (2) Binet (3) Pearscon (4) Torrance
welvem g Tl forfad faean o :
(1) fromerE @) f@m 3) frEs (4) TR

23.Which of the following is not a name of an ancient Indian University :

(I) Kurukshetra (2)Nalanda (3) Taxashila  (4) Vikramshila

fretfafaa & frge @ W Tdg fagarer 8 T8 2 2
(1) Foa (2) eI (3) aeifsren (4) fesmafimn

24. Characteristics is not of infancy :
(1) Dependency on others
(2) Full of morality
{3) Repidity in mental activities
(4) Repidity in physical development

Yrerarereen #) fadremr 7 &
(1) T R Fefem 2) faww = B
(3) WA fowm o disar (4) v famm & doa

10
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Which of the following is not related to higher education system in
India :

(1} CBSE (2) DEC (3) NAAC (4) ICSSR
frefefad #f § #H 9Xa ¥ =9 fan ggla § weifug @ 2 2

(1) WHEE. (2) SEA.

(3) TRTH, (4) oM. THTHIR,

Four esential elements of creativity are :

(1} Convergent thinking, Flexibility, Originality, Elaboration
{2) Fluency, Divergent thinking, Originality, Elaboration

(3) Fluency, Flexibility Originality, Elaboration

(4) Fluency, Flexibility, Memory, Originality

YA % AN 3evdh a0 §

(1) SErt fawH, aien, Hifdesa, faaro
(2) vETESieTar, svaErh e, Hifdemdr, foarm
(3) WaTevlicdl, oreierdH, ifcehdr, fawmo

(4) veTEYiedr, TEted, Tafd, Hiferna

As a school teacher, you have been asked by the principal to follow
the progress of a pupil who has just started at the school. What method
would you use r

(1) Case study method (2) Correlational method
(3) Differential method (4} Experimental method

A 7 R O e & 0 N w8l & e faandf s g § @ e

T IR foRan 2, 1 s ol ST wd ot o) 5 i N oy R fafy
T TGN A 2

(1) = A fafy (2) wEaEracas fafy
(3) favdges fafy (4) wEf fafy

11 P.T.O.
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28.

29.

30.

31.

Blooms cognitive domain is include :

(1) Attitude, Evaluation, Comprehensions

(2) Interest, Values, Knowledge, Analysis

(3) Knowledge, Application, Analysis, Values, Interest

(4} Knowledge, Comprehension, Application, Analysis, Evaluation

=Y % GIEEE & H e

(1) oifrgfa, goais, sedmeo

(2) ¥\, 75, 9F, favego

(3) ¥, STuEnT, favem, g, w9

(4) T, ALTZOT, ST, IRy, Toaisa

Two factor theory of intelligence was propounded by :

(1} Charles Spearman (2) E. L. Thorndike

(3) J.P. Guilford (4) Kelly and Thurstone
g & fg-wr= fagra & afues 4

(1) wred ey (2) 3UAAHEES

(3) S, firerare (4) et oK g

The main function of the UGC is to coordinate the development of
higher education in the country :

(1} Conduct examinations (2) Conduct research
(3) Disbursement of funds (4) Set up more universities

R o 3= faan & fowa & woag W faufoemem sgM STRIM UGC %1

e w2
(1) Thamd (2) g F

(3) STIEH &N 4) iy fqafamadl &1 1=
Which of the following is not a feature of a gifted child ?

(1) Disciplined and obedient (2) Overage for his class
(3) Regular and punctual at school (4) Very good in mathematics

12
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33.

34.
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Prefafaa & @ svedt faiyar sfowmoreht sras &t 78 © 2
(1) orfaa wd SRR (2} 3R FA H SHI T
(3) Toemer ¥ Fref w8 ovges WEaT (4)  TIUTT R S35 o791 BN

Which of the following names is associated with the projective tech-
niques of personality measurement ?

(1) Binet (2) Piaget (3) Rorschach (4] Terman
fretfafea & & 6 1 T v Ao 1 wad wfafel 3 geafg €
(1) fa 2) frarst (3) (4) THT

Placing education in the concurrent list of the Constitution means
that educational finance is the responsibility of :

(1) Public and private bodies

(2) Government and Parents

(3} Banks and other financing bodies.
(4) Central and State gevernments.

dfaum 1 g ¥ e @ wite w7 @ omw @ f dfws R o
TR :

(1) Wt e et e (2) TER 3R Afaums

(3) % 3R o faeity deand (4) HEE AR T WER

Which one of the following is not the part ot "3R" in SQ3R method of
study ?

(1) Recall {2) Read (3) Recite (4) Review
frafafag & 9 S99 T SQ3R eqdd fafd # "3R" w1 9N & © ?
(1) Rafet 2) = (3) fwEe 4) =g

13 | P.T.O.
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35.

36.

37.

38.

Which one of the following does not belong to others :

(1) Percentile (2} Decile {3} Quartile (4) mode
freaferfed ¥ @ @1 U, RO Q Harea @ € ?
(1) wfawaes (2) S (3) =quts (4) FGEH

During the medieval period major emphasis of education in the
Maktabs was on :

(1) Personality development (2) Reading and writing
{3} Recitation of Quran {4} Skill based learning
negeRtel H Tehaal o fran =g favy SR fean wan o

(1) =afed faww (2) ugT - fEme

(3) FUA TG (4) Ho sneia e

Which one of the following is not considered as stage of Prenatal
Development ?

(1) Concept formation (2) Embryo

(3) Fetus (4) Zygote
Freferfige % 4 & @ w90 o fomm @t vt =g @ 2
(1) w5 fawrg (2) YO

@) ¥ fag (+) T

The 10 + 2 + 3 pattern of school and higher education was first sug-
gested by
{1) Hunter Commission (2) Kothari Commission

{3) Mandal Commission {4) Sadler Commission

gaggd faeera e s<u Fe ¥ 10 + 2 + 3 YA w1 g famn e
(1) TUeT RN (2) FEHA AN (3) AYEH AAM  (4) TeoR =AM

14
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40.

41.

42.
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Which one of the following cannot be considered as the scope of
Educational Psychology ?

(1) Evaluation and Measurement (2} Financial Accounting

(3) Individual Differences (4} Teaching Learning Process
freafafaa & @ @i o foan wfasm #1 9% @ 9 S 2

(1) TeIieT wd "9 (2) N AWiHT

(3) = fafumand (4) fosror siftrmg ik

If the dependent variable decreases with the increase in indepen-
dent variable, the correlation is in which direction ?

(1) Downword (2} Negative {3) Positive (4) Upward
I AT W F agd W 1 R F9 € € @ weEey feg fw ¥ 9m 2
(1) stemmd (2) THRIEF  (3) ERAEE  (4) SETH

Article - 25 of the Indian Constitution is related to :
(1) Permission for changing ones Religion

(2} Preventing religious education

(3) Religious education

(4) Religious freedom

WIS dfaEm 9 9 - 25 % ey § -
(1) e wRadT | (2) wnffes fren % fRw 9
(3) fifw forem | 4) uiftis =dTa 9

The Report of UNESCO International Commission on Education (1972)
is known as ;

(1) Edger Faure Report (2) Learning To Be
(3) Secondary Education Report (4) University Education Report

15 P.T.O.
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43.

44.

45.

46.

TR A= fan S (1972) % AfeaeT o AW €
(1) TER BR R 2 affrz«

(3) VHveh Ty e {4y gfafdd wgFa R

Which of the following was not included in Buddhistic curriculum ?

(1} Logic {2) Medicine

(3) Milind Prashna (4} Vedic Rituals

frafafed % 9 9 W e wewsn ¥ wive T @ ?

(1) dHImE (2) Fafecarame

(3) fufas v (4) 3w FHHHOS

Which one of the following is not included in population education?
(1) Language problem {2) Refugee problem

{3) Sex-education (4) Termination of pregnancy
freaferiaa o 4 1 W T wgen-Tfoe ¥ afeifaa T 2 2

(1) WTN-Fe (2) TR TuEn

(3) a-foan @) T wEE

During British period in India the night-schools were opened as a
result of impact of :

(1) Hunter Commission {2) Macaulay Minute
{3) Sadler Commission {4} Wood's Despatch
g # fafew we ¥ ufromend fead wag & FIo @t T8 2
(1) & FieA (2) twm fafe

(3) et W (@) 3 fecka

Which Article of the Constitution authorizes the minority communi-
ties to establish and administer educational institutions of their

choice ?
(1) Article 290 (2] Article 30 (3} Article 45 (4) Article 46

16
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48,

49,
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HfSE F B W AT UGS WIS F 39 TooTER Rian deensti
F1 Tt w0 3R SH won R AfHT Far € 2
(1) 3MTWVT29 (2) ATWTE 30  (3) =L 45  (4) ATHT 46

Which of the following ideal was added later in the preamble of the
Constitution ?

{1) Equality (2) Fraternity (3) Freedom (4) Secularism

frefefaa & 9 i a1 ey dfaum % gt ¥ 9 ¥ Ser w2
(1) YHFE (2) IS (3) Tl (4) o¥ U

If two different teachers evaluate a answer book and there is differ-
ence in marks then in question paper there is :

(1) Deficiency of Norms (2) Deficiency of Objectivity
(3) Deficiency of Reliability (4} Deficiency of Validity

T IR GFEhT whl STerT-3Tem fRaehl 3R geaifhd e W 9 W ofl A
3ferR TR a7 & & Y-

(1) HFEHHT F T (2) eRgEd F FH 2

(3) forvawdtaar =t % @ (4) Agm N FH

In observation method is done :

(1) Behavioural analysis (2) Defining self behaviour
(3) Self observation (4) Study of others

frdteror fafyr & fopar s 2

(1) =THRR favemo (2) 3T TTER Hl AT
(3) o9 SHERH (4) T & A

17 P.T.O.
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50.

51.

52.

63.

Which is net a useful kind of play according to Froebel ?

(1} Chorus {2) Monodance
(3) Motor Play (4) Use of Gifts
HIN % IUR R YR %1 G euartt € 2

(1) |gET (2) TR T

(3) TS B (4) SUBRI 1 TIW

Which one of the following is objective of summative evaluation ?
(1) Give feedback to student

(2) Give feedback to teacher

(3) Test the after session learning

(4) Test the objectives in middle of session.

Frorfafas B @ $F W TF 9 ToEiEd 6 329 € 2

(1) B 9 Heasd Ta7 G 2) R & Hiegas FoH =
(3) WA SITH W S @) 9 F Aeq W ILWA BT SO

Which type of correlational technique is appropriate when the na-
ture of both of your variables is dischotomous?

{1} Biserial Correlation {2) Partial Correlation

(3) Spearman Correlation {4) Tetrachroric Correlation

gﬁﬁwmwﬁmmwm%wmﬁw T
[?

(1) <rEfaRae g (2) oTfIF dgEay

(3) TlEHA gedEy (4) THRFTH TEEEY

Article-45 of the Constitution is related to :
(1) Central Universities

(2) Compuisory Free Universal Education
(3) Compulsory Secondary Education

(4) Compulsory Higher Education

18
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55.

56.

57.
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dfeaH ) aR1-45 %1 Gy @

(1) =4 feener @ (2) @faErd f.yew qEdy faen @
3) 3ifad meafos fasn | (4) IfEd s<u foer @

Which is the highest advisory body in the field of education in India ?
(1) UGC (2) MHRD (3) NCERT (4) CABE

* T e s & fran % & F e e wand iR @ 2
(1) 93, (2) WMITFARE.(3) WHIARA. (4) Husiz.

Mid-points of consecutive class intervals 62-69 and 69-76 are :

(1) 65 and 73.5 (2) 65.5and 72.5
(3) 65 and 72 (4) 65.5and 73

1 ST 62-69 3R 69-76 W TwWAR 2, F weA fargd €
(1) 653K 73.5 (2) 65.53R72.5
(3} 65 3R 72 (4) 65.5 3R 73

Which of the following is not true education ?

(1) Direct return (2) Indirect return

(3) Investment (4) Human resource development.
frafafes ¥ & @ fag @@ 2 2

(1} W98 ¥ (2) SHQE <Y

(3) Yt fram (4) e ware T

Emotion of 'anger' generally develops at the age of :

(1) 3-4 months (2) 8-10 months

(3) 18-24 months (4) 36-48 months

19 P.T.O.
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58.

59.

60.

M Fe’ weRoa R 38 B fyeia da € ?
(1) @ @ 9r 7 o (2) o3 ¥ g\ WA #
(3) STBGRE ¥ wieiw ure ¥ (4) U 9§ TearRiyg A N

Which one of the following is not an effective measure of removing
inequality ?

(1) Compensatory Education

{2} Increasing the number of secondary schools,

(3) Increasing the tuition fees

(4) Opening of New Universities and Colleges.

fFretfefiaa o A 1 A1 T ST FHATA F L HE F AT W H 7 2
(1) W= fasn (2) wreafas el 1 e ¥ fs
(3) Tagor gow # Ffs (4) U favafaenea™ 9 Fies @i

In which of the following year, Mid-day meal scheme was started in
India ?

(1) 15 August 1995 (2) 15 August, 1996

(3) 15 August, 1997 (4} 15 August, 1998
frafafas & 9 foea 9d € 9ra § weag 9 A TR TS R 2
(1} 15 SR 1995 (2) 15 3TRd 1996

(3) 15 3 1997 (4) 15 3T 1998

In which state is Aurobindo Ashram situated in India ?
(1) Delhi State (2) Himachal Pradesh
(3) Pondicherry (4) Tamil Nadu

oid H o< ansm fra s A @ € 2
(1) feeen (2) feuras Ry (3) wifesd (4) afTeTg
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61. According to Gijju Bhai education of the child should start with :

62.

63.

64.

65.

(1) Counting (2) Drawing (3) Reading (4) Writing

s & oTER =TeTs ) e W)y ¥ e
(1) firet & (2) TETA 3) AW (4) AWT R

When was education included in the concurrent list ?
foan =) wfaam &t wwedl &t # w9 @ T ?
(1) 1947 (2) 1950 (3) 1971 {4) 1976

In historical research the content of the data is critically evaluated
in:
(1) Content Analysis (2) Evaluation studies

(3) External criticism (4) Internal Criticism

Ui AqeuE ¥ Sk @ ey & ... ¥ o o S 2l
(1) forvaasy fagamm (2) TSEFT FeTH

(3) SR wwrArE (4) S<RE HEE

Which of the following is not a Division of NCC ?

(1) Adult Division (2) Girl's Division

(3) Junior Division (4) Senior Devision

frafafag & § = @ w fedion Wl ¥ T & 2

(1) uew fediom 2) T fedism

(3) IR fedlisr | (4) R fedem

It is necessary for the education of adolescence :
(1) Good mannered education (2} Ideal education
(3) Moral education {4) Sex education
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66.

67.

68.

freiry + foan ¥ fa smaves ©
(1) TSR foien () onedl fien (3) A foem (9) O fen

According to which of the following 'Pratyaksha, Anuman and Shabd'’
are three sources of knowledge ?

{1) Purva-mimansa (2) Samkhya

(3) Vedas {4) Vedanta
frfafea § | fHoF oTIUR, T@Y, AR U6 8§16 WiE F &9 T 2
() @ Harm () A {3) T (4) o<

Which one of the following is a comparatively new terminology ?
(1) Children with special needs (2} Differently abled children
(3) Handicapped children (4) Special children
frfafaa & @ 91 o0& SR T4 R 2 2

(1) fafee syevesrar Ot s=a (2) i g adt 9=

(3) oI TR 4) fafte s=
"Root Mean Squared Deviation" is :

(1} Median {2) Percentile
{3) Standard Deviation {4} Variance
“eitrq e & aew Tge’ @

(1) wfeasH (2) WauS

(3) I fa=er {4) HEOI

69. The centre of Educational Psychology is :

(1) Child (2) Curriculum (3) School (4} Teacher
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71.

72,

73.

74.

10P/246/20(ii)

foven wAfaram @ g ®

(1) «Te® (2) UISIHH (3) foaeme™ (4) TR

The chairman of UNESCQ's [nternational Commission Education was ;
(1) Bill Clinton (2) Edger Faure
(3) John Dewey (4) U.Thant

TAEHI, STRIHIG fren o & o1ea9 & ¢
(1) Fmfaeet (2) WRWR  (3) < &4 (4) 9, 9ie

Which one is not a measure of central tendency ?

(1} Mean (2) Median (3) Mode (4) Variance
S W HE TG H 9 TG R ?

(1) HeFHH (2) AfezEm (3) wEAF (4) I|TO
Which one is input and output divice, both :

(1) Keyboard (2) Mouse (3) Printer {4) Floppy disk
F7 S wnnh e ik w1 AF R |

(1) FweE  (2) =Y (3) frex 4) wrd fewn

Which is not required in distance education ?
(1) Personal contact programme (2) Print material
(3) Regular class-room teaching (4} use of audio-visual aids

TTey fonen o RFas! snavashar @t € ?
(1) SARETd 99 FrHA @) Hfsa s
(3) Tyafas wan faeror (4) SIA-T WWHHT FH IYEN

In which year was National Literacy Mission established ?

TS e e w9 e ge T ?
(1) 1950 (2) 1956 (3) 1975 (4) 1988
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75. Annaul Examination conducted by schools on local level are :
(1) Formative Evaluation
(2) Continuous Evaluation
(3) Criterion Referenced Evaluation
(4) Norm Referenced Evaluation

feremerl o T TR W ST 219 9l Tt Then 2 ©

(1) HeZsH Yok (2) Tda qedichA
(3) ey Hefifa yeulea (4) WM Hefifa goaieH
76. Which of the following is a problem solving curriculum ?
{1} Activity centred (2) Learner centred
(3) Core pattern (4) Integrated
frfefaa & § S W TSTHT THE gl S @Rl € 2
(1) foran f=a 2) Faaneff f=@
(3) R Ted (4) aifEa
77. The real meaning of psychology is :
(1} Science of soul (2) Science of mind
(3) Science of consciousness (4) Science of behaviour
TR 1 AT ot €
(1) T i fagm (2) WiETsh H1 fagH
(3) N &1 fawe (4) STEER & fagm

78. Which one of the following areas does not fall under non-cognitive
behaviour ?

(1) Attitude (2) Evaluation (3} Interest (4) Values
frrefafiaa ¥ @ 359 a1 83 TGS FG8R F ST TEt oaT § 2
(1) wgha (2) WEdEA (3) = (4) T
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80.

81.

82.
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Who is the proponent of countenance model of curriculum evalua-
tion ?

(1) Lewy (2) Stake (3) Stufflebean (4) Tylor
ST Yol & HIS<-g Higd F vads B 9?

(1) i Q) VS (3) WEHEEH (4) TEER

In a school time-table a hard subject is preferable to be allotted in :
(1) The first period (2) The second and third period
(3) Just before the recess (4) The last period

foemerdi T wiiett § o w1 fava =1 foeg Saiw § v < Sfam §m?
(1) S Hr - ) i @ g FEm

(3) THAEHE F ik TEA 4) sifem Swlw

Play-method is related to which philosophy ?
(1) Idealism (2) Naturalism (3) Pragmatism {4) Realism

we gr e vl o wei @ deife @ 2
(1) YR () PR (3) TR (4) FAGER

Which one of the following is the role of SCERT ?

(1) To conduct public examination for state schools

(2) To grant affiliation to state schools

(3) To support teacher training programmes in the state
(4) To undertake supervision of schools in the state.

frefafas & @ & G WAIARE, B gfuwm R 2
(1) T & el & fau gdsite wdien 1 el S
(2) T & faame™l & T YgF FE

(3) T ¥ y=AIH & Ni¥eror wRfEH & TWAT WEH T
(4) TS H fa=mera =1 qddeor e
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83.

84.

85.

86.

Which of the following is a characteristic of distance education ?
(1) Itis formal system

(2) Its teachers and classes are fixed

(3) In this system there is age limit for learners.

(4) It is a synthesis between non-formal and formal education.

frfofeag & @ # w gooa foan = fadwa @ 2

(1) ¥% s vafy @

(2) 9% foes 9 Hen g a2

(3) TN B ¥ g @ A At @

@) T SueRe 9 stwefs fan w1 anfeam w9 21

National Policy on Education is known to be in the year of :

S fvan AT € L. F T Qe o € —
(1) 1984 (2) 1986 (3) 1992 @) 2001

Lesson Planning helps in :

(1) Motivating learners for teaching

(2} Planning of teaching

(3) Evaluation of teaching

(4) Reducing to teaching burden of teachers.

TE-1 TEEF Bl © -

(1) aifepry waf =i i g M@ F@ A
2) foreror &} A I A

(3) frer & qoEiwT F A

(4) foars 3 faror &1 9K F9 A Ul

Which class-group is appropriate for sex-education from the follow-
ing :

(1) Eleventh to Twelth (2) Ninth to Twelve

(3) Sixth to Eight (4) Sixth to Ninth
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frafefigs § @ o @ Fen-wg D-fren 3G I9G © 2
(1) TR ¥ IR 2) e ¥ awge
(3) BI B Al @) o3 A -

Which type of education is responsible for the prosperity and devel-
opment of the citizens of whole country from the following :

(1) Elementry Education (2) Secondary Education

(3) Higher Secondary Education (4} Higher Education

frefefiaa % @ wegul 2w ol Amfte) it agfs W e i o fan ) ok
7Y et e

(1) WRfYe fae (2) wieafas faan

(3) S~ wWreAfw e (4) =3 e

In which year Calcutta University Commission was established from
the following :

fr=fafea o 9 forg ad Fomw favafaeem =& & v g8 9
(1) 1917-19 (2) 1937-39  (3) 1948-49 (4) 1952-53

The duration of Senior Secondary Education in India is :

(1) One Year (2} TwoYears
(3) Three Years (4} Four Years
WRa 3 Seuat wreafuss fYen w5 oy ?

(1) & ad (2) T FY (3) = o (4) WX ¥

Who was chairman of Emotional Integration Committee ?

(1) L. S. Mudaliar (2 S. Radhakrishanan
(3) Sampurnanand (4} Zakir Hussain
AT TEHdl O & sies Jg 9§ ?

(1) T, TH. eI (2) TUH. UHF9H

(3) U< (4) R g
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91. Selection of a research tools mainly depend on :

92.

93.

94.

(1) Availability of the Tools (2) Our own decision
{3] Research Supervisor (4) Research Study
I SUFON H T YEIa: Fek wra g —

(1) SYHTCH i STETEE T (2) o @d & fqulg
(3) g fdver | (4) MY AT W

Which one of the following is not an essential characteristic of our
tradition ?

(1) Bhogvad (2) Equality

(3) Honouring the guest (4) Rebirth

Preffafiga ¥ @ = o o eard W ¥ g a6 2 2

(1) WFERE (2) GHET (3) -Afafy GFR  (4) TS

What is not important in games and sports ?

(1) Cooperation (2) Healthy competition
(3) Loosing and Winning (4) Socialization
Gerpe o ¥4 weeyut T ® 2

(1) H&EM (2) @ vfEifiar (3) eR-<ia (4) WAl

National Institute of Open Schoocling (NIOS) has been established as
an autonomous registered society under :

(1) MHRD 2) MSJ&E (3) NCTE (4) NCERT

TS o faaeds 9WM (NIOS) #i T&F WRN TSiigd Qiudet & ®9 o
Lo i o i i 3 A

(1) . TE &R & (2) . TH N THE.

3) WHAT (4) W@ ImA
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96.

97.

98.

99,

10P/246/20(ii)

Which of the following is an atheistic philosophy ?

(1) Charvaka (2) Sankhya {3) Vedanta (4) Yoga
frerfafaa & § &7 W T TG e 2 2
(1) =afs (2) A (3) d_ 4) am

Micro-teaching is a technique used for developing :
(1) Concepts of Content

(2} Moral Values

(3) Skills for preparing teaching aids

(4) Teaching skills.

Fea-fer wh TR 8, fowfaa #5013
(1) foawerg # dHerm A

(2) e i B
(3) foer Gere-wR 991 F S H
(4) forero sivel

In which year from the followings Indira Gandhi National Open Uni-
versity was established :

frefafes & @ fea o sfeu et wdm g favafaered 6 s g8 ?
(1) 1985 (2) 1986 (3) 1995 (4) 1996

"Society is the cobweb of social relationship” — who has given this
difinition ?

(1) Cook (2) Max Weber (3) Maclver (4} Ottaway
“Qur, QAT dedl F S 21— Fe IRam fre @ 2
(1) F& (2) AFEIR  (3) HaER (4) 3ffzd

Which one of the following is propounder of Conditioned Response
Theory ?

(1) Kohler (2) Pavlov (3) Skinner  (4) Thorndike
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frafafas ¥ & o & aey ks fuge #1 afiues € 2
(1) TR (2) SrerrE @3) fw @) gHEw

100.The statement —"India's future is being prepared in its classrooms" is
given by :
{1} Education Commission
{2) Mudaliar Commission
{3) National Policy on Education
(4) University Education Commission

“aRa o afee wmanel ¥ dER € w dr”

7% 9 3 R T #

(1) foew s (2) VeI s

(3) UEg e ifa (4) favafaem faa sm
101. Creativity is identified by :

(_1] Drawing (2) Old behaviour

(3) Music (4) New Result

GOATEFRA H I8 B ©

(1) fesepen 9 (2) T FEER 4

(3) wiad (4) A uftory B
.102.Which one of the following is non-parametric test ?

(1) Analysis of variance (2) Analysis of co-variance

{3) Chi-sgquare (4} Factor analysis

frefofea 3 @ 99 a1 & R-mafers weo @ 2

(1) SuLo fagarae (2) 9%y favarso

(3) WE-GARR (4) PR fereeryni
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103.Who supported Individual Aim of Education ?
(1) Durkheim (2) Karl Marx (3} Kilpatric (4) T.P.Nunn
fran & dafere Se9 B B wRd® 9 ?
(1) @M 2) *dwed (3 feeifew  (4) AW

104.The current government expenditure as percent of GNP in India is
about :

(1) 1 percent (2) 2 percent (3} 4 percent (4} 6 percent

i ¥ GNP F1 a1 MoV =99 TduM TWER 3R S o @ -
(1) wwyfawe (2) [AGe (3) IR WM (4) I Hiavd

105. The first basic school under Gandhiji's scheme was setup at :

(1) Nagpur (2) Porbandar
(3) Sabarmati Ashram (4) Wardha
e S F A F Fa ggen ofgw farera wnfd fear v a1
(1) TR 2) I
(3) WETHA MW 4) adf
1086. Self-Instructional Mdterial (SIM) is characterized by :
(1) distance learning . (2) self-learning
(3) individualized learning (4) systematic learning
@-SrReE am (faw) =) fadia 2
(1) T Afumm 2) E-siEm
(3) =afeE sfama (4) wHSS fH

107.Who gave the concept of social efficiency ?
(1} Dewey (2} Hegel (3) James (4) Pierce

31 P.T.O.



10P/ 246 /20(ii)

TSI T bl e fopem < 2
(1) <&t (2) & (3) (4) g

108. Which age-group from the following is within the concept of Primary-
Education in India ?

(1} First Three Years (2} First Five Years
(3} First Eight Years (4} First Four Years

%nmﬁmmmnﬁaawmarmﬁmﬁﬁaaﬁ@mm—aﬁﬁ
?

(1) S & o (2) ¥99 9rg od
(3) ¥9T B T (4) WY9 ¥R I

109. Which of the following is best suitable for the development of affective
attributes ?

(1} Audio tape {2) Charts
(3) Maps {4) OHP transparencies
THYTEE Ty ¥ e oy frefataa § 9 9 W Wey wew § 2
(1) %339 (2) =R
(3) wEfES (4) 0. w9, &, IrauE
110. What is the basis of caste in India ?
(1) Birth . (2) Money (3} Post (4) Vocation

ARG o W T SMYR FME ?
(1) S 2) & (dem) (3) W (4) EEE

111. Which of the following provides a carefully argued analysis ?
(1) Computer conferencing (2) Face to face tutoring
(3) Lecturing {4} Telephone tutoring
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Wﬁ@aﬁnmmwmﬁﬁmﬁaﬂ—wmﬁ?ﬁwmm
?

(1) PR T (2) gafyge fagor
(3) AN (4) TR feregor

112, Who was recommended Anshaunng method ?

(1} Pestalozzi (2) Plato (3) Russell (4) Socrates
srmi-fafy =) srperan frem &t off 2
(1) =@ (2) @RI (3) Ww (4) YR

113. Which of the following are considered most.desirable multi sensory
materials ?

(1) Materials where only one sense 1s used

(2} Materials where it is allowed to use only two senses.
(3) Materials where three senses are used.

(4) Materials where two or more than two senses are used.

fretfafaa & @ #i7 TgEa AnEl F w9 ¥ wed ofus ateig 3 2
(1) T arel fed Seel uF qs v & ot 2

(2) o€ wneh Frad e @ FA-shsal & | ondl

(3) & um Rl Faet @ ge-3teal M | o &

(4) o qrEl forai <1 @ € @ v F-3tEEl Suam o ot €

114. Which of the following is not a chracteristic of urbanization ?
(1} Facilities are available for cinema houses, roads, school etc.
(2) Urban people imitate the villagers.
(3} Villages gradually turn to be suburbans.
(4} Women are sufficiently free.
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115.

116.

117.

frefafaa ¥ § w0 I SiA- fasivar a8 € ?
(1) FEmER, 9eF, Tho onfg =t gfawn 2 €
(2) W& F @, M A w1 ATH FQ

(3) e -1 YW TG I €

(4) Forli % vafa ez €t 2

Which one of the following statement is correct ?

(1) A unit planning helps in deciding about the schedule of activi-
ties.

(2) A unit planning helps in conceptualization of teaching-learning
process.

(3) A unit planning comparises of number of lesson plans.
(4) A unit planning is smaller in scope of lesson plannings.

Prefefiaa & @ 19 91 U % GE 2 ?

(1) R die frammenmd @t gue wielt sAn ¥ JgEs w6l 8l
) THE e sifea-firere whem & Wi ¥ Ees S 2
(3) T ASE A 3F WSS witter e 8

(4) S IS @ & vie-dra @ BT gl f)

The first Indian Womens University (SNDT) established on :
(1) 3 June 1912 (2) 3 June 1916
(3) 3 June 1920 (4) 3 June 1924

Ve ARdr wieen favafaener (T T S &) w e g8
(1) 31912 (2) 3¥1916 (3) 3I1920 (4) 3 7 1924

Which of the following factors is not an essential characteristic of
Indian philosophy ?

(1) Faith in moral order (2) Law of Karma

(3) Pessimism (4) Spiritualism
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frafeafaa ¥ A = o1 9@ I Sl 9 st ke ad § 2
(1) o seear ¥ favar () &9 = frm
(3) TRy (+) e

118.In which of the following was the objective of Gandhian philosophy
Basic Education ?

{1} The all round development of Children.

(2) To develop Private Managed Educational Institution.
{3) Education was not essential for all in India.

(4) To oppose the English Education.

Freafafaa ¥ § i @ e 597 ) gfEd-faen &1 stwa @1 2
(1) &=al &1 waEim faewy s

(2) SRG ® fsh wamee w1 Rafors e w1 foer Fam
(3) WRA # wedft & forg fineq amawgs & 4t

(4) sl fen &1 fagg v

119. The name of ancient Jewish school was :
(1) Academy (2} Lycium (3) School {4) Synagogue

W agd) ferenera w1 Y o
(1) TR (2) nfEEm (3} foremer (4) feitn

120.1n India development of democratic citizenship as an educational aim
was said by :

(1} Hunter Commission (2) Mudaliar Commission
{3) Sadler Commission {(4) Sanskrit Commission.
I ¥ SR ARl % fera o dfs st fean e —
(1) BUEL FHHRIA (2) HaEfaw wfed

(3) VTR FHIHA (4) HEFT FHHA
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121. Which of the following statements does not reveal characteristic of
socialism?

(1} Competition has an important place in socialism.

i) Socialism accepfs individual as an organ »f society

(3) Socialism does not accept separate entity of individual.
(4) Socialism opposes capitalism.

frafafiga § 9 #5991 S goeErE & faevd @ s ?
(1) GwrwErE ¥ Siadifia 1 Seeq e )

(2) HUERE =4k F TS H UH FT A6l 2

(3) THIstENE safth &) gus O T8l WA B

(4) wuER, ISt & faly s 2

122, Which of the following is an example of criterian-referenced evalua-

tion?
(1) Geeta corrected 80 items out of 100 items in a test within 60
minutes.

{2) John is an average student in the class.
(3) Mohan stood third in the class.
(4] Ram scores 50 marks in science.

frefafea ¥ & & @ saren Freed-wwfia g 2 2
(1) " ¥ 60 fFe ® 100 ¥ ¥ 80 Ug Wt & fFu

(2) W Fa ¥ ST &R & o 2

(3) T el ¥ g T T w®

4) [, fagm fawg % 50 9% wrq feg

123.Which one of the following is the role of NCERT ?
(1} To conduct public examination for the Kendriya Vidyalayas.
(2} To grant affiliation to Central schools.
(3} To improve the quality of school education in India.

(4) To undertake supervision of schools in India.
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frefafaa ¥ @ & 9w ol am . = g € 2
(1) F=5r faere =) ufsws ofen w099 o

(2) % % faurer ® wrEE YeE S

(3) 9RA ¥ famnerd faen &} qorear & guR & Em
(4) 9RA & Tl & TR H SN HE

124.Which of the following is mot included in four noble truths ?
(1) Misery can't be eliminated (2) Misery has a cause

{3} - Misery has an end (4} There is a remedy for misery.
frferfan # @ @9 @ w 9r o wel | afinfag T8 § 0

(1) @ T & (2) T HERU

B) T@F ML (4) TE P FI HIUE T

125.The year was declared as the International Year of the Disabled Per-

sS0Ns |
forrarill =1 SR o, T 9 ifvq foeam o
(1) 1978 2) 1981 (3) 1987 (4) 1999

126.Which of the following philosophies believes in the authority of Vedas?
{1} Buddhism (2} Charvaka (3) Jainism {4} Sankhya

frefafaa W @ 9 @ g 39 9 w0 99a 87
(1) di& (2) <rElE (3) =° 4) W

127, Which one of the following is included in the list of educationally
backward states ?

{1} Himachal Pradesh (2) Kerla
(3} Orissa {4} Punjab
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frefalaa 4 9 =0 @ @ froe wsg = gt o wite § ?
(1) feo=a 9w (2) =& (3) I (4) USE

128.The target year for achieving the goal of UEE under Sarva Shiksha
Abhiyan is :

¥d e fm ¥ orarfd UEE % 399 &l I (3 & ot oia 99 ©
(1) 2007 (2) 2010 (3) 2012 (4) 2015

129.The first modern university in India was set up in 1857 at :

(1} Bombay (2} Calcutta (3) Delhi (4) Madras
Rd W qgen nyf favafaemed 1857 ® fary T W wfyd fevan w42
(1) o= (2) hereRl @) feeeh (4) ASH

130.The National level organization that discharges regulatory functions
for teacher education in India is :

(1) AICTE (2) DAMT (3) NCERT (4) NCTE
ad N Tearde fen &) saaen s & A F F o U w1 H G916
2

(1) TRHAAE (2) StvwmA

(3) W HE A 4) THEF
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SECTION-II
Tve-11
(English Langunage Comprehension)

Note: Attempt all the 20 questions in this Section if you do not opt for
Section-III on Hindi Language Comprehension.

Four alternative are given as possible answers to each question.
Give the correct choice as an answer.

Read the passage given below and answer the questions based
on it. Do not go beyond the passage to answer questions.
Choose the most suitable option.

Those who perform the intellectual function in society, Gramsci
tries to show, can be divided into two types : first traditional intel-
lectuals such as teachers, priests, and administrators, who consti-
tute to do the same thing from generation from generation; and
second, organic intellectuals, whom Gramsci saw as directly con-
nected to classes or enterprises that used intellectuals to organize
interests, gain more power, get more control. Thus, Gramsci says
about the organic intellectual, "the capitalist entrepreneur creates
alongside himself the industrial technician, the specialist in politi-
cal economy, the organizers of a new culture, of a new legal sys-
tem, etc.” Today's advertising or public relations expert, who de-
vises techniques for winning a detergent or airline company a larger
share of the market, would be considered an organic intellectual
according to Gramsci, someoné who in a democratic society tries to
gain the consent of potential consumers, win approval, marshall
consumer or voter opinion. Gramsci believed that organic intellec-
tuals are actively involved in societg, that is, they constantly struggle
to change minds aind expand markets; unlike teachers and priests,
who seem more or less certain to remain in place, doing the same
kind of work year in year out, organic intellectuals are always on
the move, on the make. At the other extreme there is Julian Benda's
celebrated definition of intellectuals as a tiny band of super-gifted
and morally endowed philosopher-kings who constitute the con-
science of mankind.

131. What does Gramsci mean by traditional intellectuals ?
(1) those who were born intellectuals for generations.
(2) those who pose as intellectuals always

(3) those who constitute to perform the intellectual function for gen-
erations

{4} those families whose generations have been intellectuals
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132.What does Gramsci mean by organic intellectuals ?

(1) those who do not work in the interest of classes and enterprises

(2) those who emerge from mother earth to perform sacred func-
tions for classes

(3) those who are linked to classes and enterprises, work for their
interests

(4} those who are connected to classes and enterprises in the poli-
tics of religion

133.Does the organic intellectual produce other intellectuals ?

(1) Woari]en intellectuals only give birth to other secondary intellec-
tuals

(2) organic intellectuals find it too difficult to produce intellectuals
therefore give up

(3) Yes, for example, the entrepreneur produces the industrial tech-
nician

(4) Organic intellectuals being brought up on organic diets can of-
fer it to others also

134.What does an organic intellectual try to do in today's society ?
(1) tries to gain public consent, approval of consumers and voters

(2) tries to gain public confidence for manufacturing goods and ser-
vices _

(3) tries tg go out to sell the products of his company and firm
(4) tries to indulge in politics and manipulate voters onlv

135.Why do organic intellectuals keep on the move ?
(1} because they become restless at a place after some time
(2) because they hate to stay at a particular place for ever
(3) because they try to change minds and expand markets
(4) because by moving they make more and more money

136.}Vhatphappens when traditional intellectuals stay at a given place for
ong -

(1} they start indulging in politics

(2) they become part of an organic community

(3) they do the same work year in year out

(4) they become indistinguishable from organic intellectuals
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137.What is Julian Benda's definition of intellectuals ?
(1) intellectuals are organic to a community of people

(2} intellectuals are traditional people who perform traditionally
wealthy roles '

(3) intellectuals comprise a small group of extra-ordinarily gifted
people and are the conscience of mankind

(4) intellectuals are a community of bright, philandering men and
women

138.Choose the meaning that is most removed from the given word or
least close to it :

Marshall
(1} arrange (2) assemble (3] collect (4) save

139.Choose the meaning that is most removed from the given word or
least close to it ;

Entrepreneur
(1) capitalist (2} industrialist {3} businessman{4) employee

140.Choose the meaning that is most removed from the given word or
least close to it : '

Endowed
(1) permanent income {2} borrower
(3) possessing talent {4} having ability

141. Find out the correct sentence

(1) A good novel tells us the truth about its hero; but a bad novel
tells us the truth about its author

(2} A good novel tells us the truth about hero; but a bad novel tells
us the truth about its author

(3} A good novel tell us the truth about its hero; but a bad novel tell
us the truth about author

(4} A good novel tells us the truth its hero; but a bad novel tells us
the about its author
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142.Find out the correct sentence :

(1)
(2)
(3)
(4)

The thing I hate about an argument that it always interrupt a
discussion

The thing I hate about an argument that it always interrupts a
discussion
The thing I hate about an arguments is that it always interrupt
discussion

The thing I hate about an argument is that it always interrupts a
discussion

143.Find out the correct sentence :

(1)
(2)
(3)
(4)

‘Knowledge is comfortable and necessary retreat and shelter for
us advanced old age.

Knowledge is a comfortable and necessary retreat and shelter
for us in advanced old age.

Knowledge is comfortable and necessary retreat and shelter or
us in advanced old age.

Knowleclc%e is a comfortable necessary retreat shelter for us in
advanced old age.

144.1dentify the correct sentence :

(1)
(2)
3)
(4)

The highest proof of virtue to possess boundless power without
abusing it

The highest proof of virtue is to possess boundiess power with-
out abusing it

The highest proof of virtue is possess boundless power without
abusing

The highest proof virtue is to possess boundless power without
abusing it

145. Identify the correct sentence :

(1)
(2)
(3)
(4)

g‘he greatest pleasure life is doing what people say you cannot
0

The CFrea’ccst pleasure in life is doing what people say you can-
not do

'Cll‘he greatest pleasure in life doing what people say you cannot
0

The greatest pleasure of life doing what people say you cannot
do
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146.Fill in the blanks with the most suitable option given below :

AS...ceeeeee. well-spent day brings happy, sleep, so life well used............
happy death.

(1} of........... bring 2) a.... .... brings

(3} ... brought {4) into........ brought

No man is........ old as to believe that....... cannot live one more year.
(1) such........ she (2) more........... he
{3} SOuerriinnne .....he (4) SOueireennn for

Tact....ccceevenenn.. the art of making a point without making..... enemy.
(1) of......... the (2} isciciieiinnn. an
(3) in......... of (4)  is.ceviirnnnnan. the

149.Fill in the blanks with the most suitable option given below :

If I have seen further it is by standing......... shoulders of giants.
(1) on the (2) in the
(3) among the {4} of the

150.Fill in the blanks with the most suitable options given below :

Those who wish......... appear wise among fools, among..... wise seem
foolish.

(1} 1O .vvieirreneen. the (2} iscecerninnes of

(3) in........... the (4) for.......... the
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Rough Work
T T
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